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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–I (CtoD) • EXAMINATION – SUMMER • 2014 

Subject Code: C325003 Date: 18-06-2014        

Subject Name: Advanced Building Materials 

Time: 10:30 am - 12:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make suitable assumption wherever necessary. 

3. Each question is of 1 mark. 

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed) 

5. English version is authentic. 

No. Question Text and Option 

1. 

Wrought iron contains carbon up to: 

A. 2%. B. 1.0% 

C. 1.5% D. 0.25% 

2. 

The variety of pig iron used for manufacture of wrought iron, is 

A. White forge pig B. Grey or foundry pig 

C. Bessemer pig D. Mottled pig. 

3. 

Stainless steel contains 

A. 18% of chromium and 8% nickel B. 12% of chromium and 36% of nickel 

C. 8% of chromium and 18% of 

nickel 

D. 
36% of chromium and 12% of nickel. 

4. 

Depending on the chemical composition and mechanical properties, iron may be 

classified as  

A. steel B. cast iron 

C. wrought iron D. all the above. 

5. 

Bitumen in 

A. solid state, is called asphalt B. fluid state, is called petroleum 

C. semi fluid state, is called mineral 

tar 
D. 

all the above. 

6. 

Galvanising means covering iron with a thin coat of 

A. tin B. glaze 

C. zinc D. coal tar. 

7. 

For preparing porcelains, the clay should be 

A. sufficiently pure B. of good plasticity 

C. of high degree of tenacity D. All the above. 

8. 

Fibre glass  

A. has a higher strength to weight 

ratio 
B. 

does not decay 

C. is shock proof and fire retardant D. All the above. 

9. 

The commonly used colour pigment in paints, is 

A. ambers B. iron oxide 

C. carbon black D. lamp black 

10. 

Varnish is a transparent or semi-transparent solution of resinous substances in 

A. alcohol B. turpentine 

C. linseed D. all the above 

11. 

The variety of pig iron used for the manufacture of steel by Bessemer process, is 

A. Bessemer pig B. White forge pig 

C. Grey pig D. Mottled pig. 

12. 

The most fire resistant paints are  

A. enamel paints B. asbestos paints 

C. aluminium paints D. cement paints. 
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13. 

The commonly used drying oil for oil paints, is 

A. olive oil B. none to these. 

C. linseed oil D. lead 

14. 

Turpentine oil is used in paints as 

A. thinner B. vehicle 

C. base D. drier. 

15. 

Fibre boards can be 

A. distempered B. painted and distempered 

C. painted D. used for furniture. 

16. 

Wrought iron is used for 

A. structural works in beams B. columns  

C. small sized water pipes D. none to these. 

17. 

German silver is an alloy of 

A. zinc, lead and nickel B. copper, nickel and zinc 

C. silver, gold and lead D. copper, brass and zinc 

18. 

Pick up the incorrect statement from the following 

A. Plastics are chemical resistant B. Plastics are ductile 

C. 
Plastics are durable 

D. Plastics are excellent electric 

insulators. 

19. 

Pick up correct statement from the following 

A. Fibre boards are used for thermal 

and acoustic control 
B. 

Fibre boards are easy to cut. 

C. Fibre boards are used for light 

weight standing members 
D. 

all the above. 

20. 

For the manufacture of stainless steel, steel is mixed with 

A. chromium B. tungsten 

C. nickel D. none of these. 

21. 

In paints, the pigment is responsible for 

A. durability B. smoothness 

C. colour D. glassy face 

22. 

Putty is 

A. made with finely powdered 

chalk and linseed oil 

B. softened by a solution of pearl ash and 

quick-lime soaked in water 

C. used for fixing glass panes D. all the above. 

23. 

PVC stands for 

A. plastic very compact B. polythene vinyl carbon 

C. polythene vinyl chloride C. polythene vanadium carbide. 

24. 

Cement paints usually 

A. contain hydrated lime B. contain 5% sodium chloride 

C. contain 5% to 10% colour 

pigments 
D. 

all the above. 

25. 

A volatile substance added to a paint to make its application easy and smooth, is 

known as 

A. base B. vehicle 

C. solvent D. none to these. 

26. 

Pick up the correct statement from the following  

A. The plywood do not split or 

crack due to changes in 

atmosphere 

B. 

The plywood are light in weight 

C. The commercial plywood are 

available up to 150 cm wide and 

up to 300 cm long 

D. 

All the above. 

27. 

The most durable varnish is 

A. water varnish B. turpentine varnish 

C. spirit varnish D. oil varnish 
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28. 

Pick up the correct statement from the following 

A. 
The baked earth is called terra-

cotta 

B. The articles prepared from fine earthen 

ware which is white, thin and semi-

transparent, are called procelain 

C. The articles prepared from clay 

which is burnt at low 

temperature and cooled down 

slowly, are called earthen-ware 

D. 

All the above. 

29. 

The commonly used thinner in oil paints, is 

A. naphtha B. both (a) and (c) 

C. turpentine D. neither (a) nor (b) 

30. 

Cast iron 
A. is manufactured in required 

shapes 
B. 

is remelted in a cupola furnace 

C. may contain 2 to 5 %  of carbon 

with other impurities 

D. 
all the above. 

31. 

Asbestos is 

A. corrugated sheet used for roofing B. a bad insulator for sound and heat 

C. an incombustible fire proof 

material 
D. 

all the above 

32. 

Pick up the correct statement from the following 

A. Wooden flooring is used in theater. B. Paver blocks are used in footpath. 

C. Granite is used in kitchen platform D. all the above 

33. 

Distemper is 

A. a paint consisting of powdered 

chalk, pigments, and water 
B. a paint consisting of coloured cement 

and water 

C. a water proofing agent D. a drying agent. 

34. 

Oil varnish generally consists of 

A. synthetic resin and spirit B. resin, oil and turpentine 

C. oil, wax and resin D. spirit, oil and wax. 

35. 

For sanitary pipes and chemical stoneware 

A. salt glazing is used B. opaque glazing is used 

C. lead glazing is used D. None of these. 

36. 

Roofing materials 

A. Mangalore  tiles B. G.I sheets 

C. A.C. sheets D. Above all 

37. 

The base material for distemper, is 

A. Chalk  B. lime putty 

C. lime D. cement wash. 

38. 

The steel used in R.C.C. work is 

A. stainless steel B. high carbon steel 

C. mild steel D. wrought iron. 

39. 

Cast iron is used for 

A. structural works in beams B. columns and structure 

C. small sized water pipes D. none to these. 

40. 

Stainless steel resists corrosion due to 

A. chromium B. sulphur 

C. vanadium D. carbon 

41. 

The most important constituent of varnish, is 

A. drier B. resin 

C. solvent D. all the above. 

42. 

A ferrous metal is 

A. cast iron B. steel 

C. wrought iron D. all the above. 

43. Spirit varnish generally consists of 
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A. oil, wax and resin B. pigment and synthetic resin 

C. alcohol, wax and turpentine D. spirit and shellac 

44. 

Glazing of clay products, is done 

A. to improve their appearance B. to protect them from corrosive action 

C. to protect them from 

atmospheric effect 
D. 

all the above. 

45. 

To give a brilliant finish, the type of varnish used, is 

A. water varnish B. oil varnish 

C. spirit varnish D. none of these. 

46. 

Mild steel is used for 

A. structural works in beams, joints 

and girders 
B. 

columns and struts 

C. small sized water pipes D. none of these. 

47. 

Which one of the following is used for preparing porcelain 

A. clay B. minerals 

C. feldspar D. All of these. 

48. 

For light and ornamental casting, the most unsuitable pig iron, is 

A. Bessemer pig B. White or forge pig 

C. Grey or foundry pig D. Mottled pig. 

49. 

Acrylic sheets 

A. possess 10 to 17 times greater 

breakage resistance than that of 

glass of equivalent thickness 

B. 

are available in various shapes 

C. are generally unaffected by most 

household detergents 
D. 

all the above. 

50. 

Stucco plaster is done on 

A. Outside B. Inside 

C. both (a) and (b) D. neither (a) nor (b) 

51. 

Slate is fixed to the bottom in roofing by nails of  

A. Zinc B. Marble  

C. M.S. D. Magnesia 

52. 

Marketable form of linoleum is 

A. Meter length B. Roll 

C. Meter Width D. Thickness 

53. 

Plastering of a radiography room is done by a special cement obtained from 

A. Barium Sulphate B. Perl Ash 

C. Asbestos-marble D. Silicon 

54. 

Pad lock is use for  

A. Regular door B. Window door 

C. Cupboard door D. none 

55. 

Sewer pipes are made of   

A. Earthenware B. Stoneware 

C. Refectory ware D. Terracotta 

56. 

Parliament hinge is used in 

A. Door opens 90ْ B. Door opens 100ْ 

C. Door opens at 180ْ D. Door opens at 360ْ 

57. 

Porcelain is used in  

A. Sanitary ware B. Electric insulators 

C. Storage vessels D. Vector chamber 

58. 

Brass is an alloy of  

A. Copper and Zinc B. Zinc and lead 

C. Tin and Silver D. Zinc and Nickel 

59. 

A lacquer is  

A. Distemper B. Dry paint 

C. Spirit Varnish D. Oil paint 



5/11 

60. 

Terracotta is used in buildings for   

A. Storage B. Insulation  

C. Ornamental works D. Sanitary goods 

61. 

Moorum is Mainly used for  

A. Foundation work B. Finish coats of plaster 

C. Top dressing roads D. None of above 

62. 

Door closer is used for 

A. A.C. Rooms B. To keep door open  

C. Terrace door D. None of above 

63. 

A roof is slopping in four direction is called   

A. Sloping roof B. Gable roof 

C. Hip roof D. Shed  roof 

64. 

NARMADI is the name of  

A. Type of door movement B. Joint in timber work 

C. Window hinge D. Roof bolt 

65. 

Latch is the name of  

A. A window type B. Bolt of a door 

C. Lock D. Wooden carving 

66. 

Rubber floor covering is better suited for  

A. X-ray room B. Radio station 

C. Both -(a,b) D. Coffee shop 

67. 

Cork flooring is used for 

A. Kitchen B. Bathroom 

C. Bed-room  D. Otta 

68. 

Which type of flooring used in Swimming Pool 

A. Terrazzo B. Marble 

C. Cement Con. C. Linoleum 

69. 

Acoustical plaster is done with  

A. Gypsum  B. Mud 

C. Moorum D. Wood 

70. 

Which  of the following oils can be used as a vehicle for paints  

A. Poppy oil B. Nut oil 

C. Tung oil D. Any of above 

 

************** 

ગજુયાતી 
ન.ં પ્રશ્ન તેભજ વલકલ્઩ 

1. 

ઘડામેરા ર૊ખડંભા ંકાફબન કમા ંસધુી સભાલે:  
A.  0.25% B. 1.0% 
C. 1.5% D.  2%. 

2. 

કમા પ્રકાયના ર૊ખડંભાથી ઘડામેર ર૊ખડં ફનાલલાભા આલે છે  
A.  વ્હાઇટ પ૊ર્જ વ઩ગ  B. ગ્ર ેઅથલા પાઉન્ડ્રી વ઩ગ 
C. ફસેભેય વ઩ગ  D.  ચિત્તદાય વ઩ગ. 

3. 

સ્ટેઈનરેસ સ્ટીરભા 
A.   ક્ર૊વભમભ 18% અને 8% વનકર B. ક્ર૊વભમભ 12% અન ે36% વનકર 
C. ક્ર૊વભમભ 8% અન ેવનકર 18% D.  ક્ર૊વભમભ 36% અન ે12% વનકર  

4. 

યાસામચણક ફધંાયણ અન ેમાવંિક ગણુધભો ઩ય આધાય યાખીને, આમનબ સી તયીકે લગીકૃત કયી 
ળકામ છે 
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A.  સ્ટીર B. ફી કાસ્ટ આમનબ 
C. ઘડામેરા ભા ં D.  ફધા ઉ઩ય.  

5. 

ડાભય એ 
A.  ઘન સ્લફૃ઩ ડાભય B. પ્રલાહી સ્લફૃ઩ કહલેામ છે ઩ટે્ર૊ચરમભ  
C. અધબ પ્રલાહી સ્લફૃ઩ ખવનજ ટાય D.  ઉ઩યના ફધા ને કહલેાભા ંઆલે છે. 

6. 

ગેલ્લેનાઇજજગભા ર૊ખડં ઉ઩ય કમા ઩ાત઱ા ઩ડન ુઆલયણ કયલાભા આલ ેછે. 
A.  ટીન B. ગ્રેઝ 
C. ઝીંક D.  ક૊રસ૊ ટાય. 

7. 

ચિનાઇ ભાટી તૈમાય કયલા ભાટે,  
A.  ઩યૂતા પ્રભાણભા ંશદુ્ધ  B. સાયા પ્રભાણભા પ્રાસ્સ્ટવસટી 
C. ઉંિા પ્રભાણભા ંતાણ D.  ઉ઩યના ફધા 

8. 

પાઇફય ગ્રાસ  
A.  લજનના પ્રભાણ કયતા ભજબતૂ B. સડ૊ અટકાલલાની તાકાત 
C. આઘાત પ્રવતય૊ધક અને આગ ય૊ધક D.  ઉ઩યના ફધા  છે . 

9. 

યંગ૊ ભા ંસાભાન્ડ્મ યીતે ઉ઩મ૊ગભા ંઆલત ુ યંગદ્રવ્મ  
A.  અઁફય B. આમનબ ઓક્સાઇડ 
C. કાફબન બ્રેક D.  ભેળ 

10. 

લાવનિળભા ઩ાયદળબક અથલા અધબ ઩ાયદળબક  યેસાયકુ્તૌ ઩દાથબ  
A.  આલ્ક૊હ૊ર B. ટ઩ેંનટાઇન 
C. અ઱સીન ુતેર D.  ફધા ઉ઩યના 

11. 

ફેસેભય પ્રક્રક્રમા દ્વાયા સ્ટીર ઉત્઩ાદન ભાટે ઉ઩મ૊ગભા રેલાત ુ વ઩ગ આમનબ  
A.  ફેસેભય ર૊ખડં B. વ્હાઇટ ર૊ખડં  
C.  ગ્રે ર૊ખડં D.  ચિત્તદાય ર૊ખડં  

12. 

સોથી આગ પ્રવતય૊ધક યંગ૊ છે 
A.  ઇનેભર યંગ૊ B. એસ્ફેસ્ટ૊સ યંગ૊  
C. એલ્યવુભવનમભ યંગ૊ D.  વસભેન્ડ્ટ યંગ૊  

13. 

સાભાન્ડ્મ યીતે તેર યંગ૊ ભાટે સકૂલણી તેર  
A.  ઓચરલ તેર B. આભાથંી એક ઩ણ નહી 
C. અ઱સીનુ ંતેર D.  રડે 

14. 

 યંગભા ટ઩ેંનટાઇન ન૊ ઉ઩મ૊ગ 
A.  યંગ ઩ાત઱ા કયલા B. લાહક 
C. સકૂલલા D.  આધાય. 

15. 

પાઇફય ફ૊ડબ ઉ઩ય 
A.  ક્રડસ્ટેમ્઩ય  B. ક્રડસ્ટેમ્઩ય અને યંગ 
C. યંગ D.  પવનિિય ભાટે 

16. 

ઘડામેરા ર૊ખડંન૊ ઉ઩મ૊ગ  
A.  ફીભ ક૊રભના ભા઱ખાકીમ કાભ 

ભાટે 
B. ક૊રભ  
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C. નાના કદની ઩ાણીની ઩ાઇ઩ D.  આ ભાથંી એક઩ણ નક્રહ 

17. 

જભબન વસરલય ની વભશ્ર ધાત ુ 
A.  જસત, સીસુ ંઅને વનકર B. તાબં,ુ વનકર અને જસત 
C. િાદંી, સ૊નુ ંઅને રેડ D.  તાબં,ુ વ઩ત્ત઱ અને ઝીંક 

18. 

નીિેની ભાથી ખ૊ટા વનલેદન ચ ૂટં૊ 
A.  પ્રાસ્સ્ટક યાસામચણક પ્રવતય૊ધક B. પ્રાસ્સ્ટક નયભ હ૊મ છે 
C. પ્રાસ્સ્ટક ભજ્બતૂ હ૊મ છે D.  પ્રાસ્સ્ટક સાયા વલધતુ લાહક છે. 

19. 

નીિેના ભાથંી મ૊ગ્મ વનલેદન ચ ૂટં૊ 
A.  પાઇફય ફ૊ડબ થભબર અન ેએક૊સ્સ્ટક 

વનમિંણ કયે છે 
B. સય઱તા થી કા઩ી ળકામ છે. 

C. લજનભા હરકા અને અરગ  સ્થામી 
સભ્મ તયીકે લ઩યામ છે. 

D.  ઉ઩યના ફધા 
 

20. 

સ્ટેઈનરેસ સ્ટીર ના ઉત્઩ાદન ભાટે સ્ટીર સાથે વભશ્ર ધાત ુ 
A.  ક્ર૊વભમભ B. ટંગસ્ટન 
C. વનકર D.  આ ભાથંી એક઩ણ નક્રહ 

21. 

યંગ૊ ભા ંયંગદ્રવ્મ ભાટે જલાફદાય છે 
A.  ટકાઉ઩ણુ ં B. સય઱તા 
C. યંગ D.  િભકતી સ઩ાટી  

22. 

઩ટુી એ 
A.  િ૊ક ઩ાઉડય અને અ઱સીનુ ંતેર B. ઩ાણીભા ઩ર઱ેરી યાખ અને જચરમ ચનૂા ન ુ

વભશ્રણ  
C. કાિ પરક૊ને ફેસાડલા D.  ફધા ઉ઩યના. 

23. 

઩ીલીસી એટરે 
A.  ખફૂ જ સઘન પ્રાસ્સ્ટક B. ઩૊રીથીન વલનાઇર કાફબન 
C. ઩૊રીથીન વલનાઇર ક્ર૊યાઇડ D.  ઩૊રીથીન લેનેક્રડમભ કાફાબઇડ 

24. 

વસભેન્ડ્ટ ઩ેઇંટ સાભાન્ડ્મ યીતે 
A.  હાઇરટેેડ ચનૂ૊ સભાલે B. 5% સ૊ક્રડમભ ક્ર૊યાઇડ  
C. 5% થી 10 % યંગ કણ D.  ઉ઩યના ફધા 

25. 

યંગ ને ઩ાત઱૊ અન ેરીસ૊ ફનાલલા ભાટે યંગભા ઉભેયલાભા ંઆલત૊ એક ઩દાથબ  
A.  આધાય B. લાહન 
C. દ્રાલક D.  આ ભાથંી એક઩ણ નક્રહ 

26. 

નીિેનાભાથંી મ૊ગ્મ વનલેદન ચ ૂટં૊ 
A.  લાતાલયણભા ંથતા પેયપાય ના 

કાયણે વતયાડ ઩ડતી નથી.  
B. પ્રામવડુ લજનભા ંહરકુ હ૊મ છે. 

C. વ્મા઩ાયી પ્રામવડુ ઩હ૊઱ાઇ 150 
સે.ભી. અને 300 સધુી સે.ભી. રાફંી 
સધુી ઉ઩રબ્ધ છે 

D.  ઉ઩યના ફધા 

27. સોથી ટકાઉ લાવનિળ છે  
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A.  ઩ાણી લાવનિળ B. ટ઩ેંનટાઇન લાવનિળ 
C. સ્સ્઩યીટ લાવનિળ D.  તેર લાવનિળ 

28. 

નીિેથી મ૊ગ્મ વનલેદન ચ ૂટં૊ 
A.  ઩કલેરી ભાટીને ટેયાક૊ટા કહ ેછે B. જે લસ્ત ુભાટીભાથી ફનેર છે અને જે સપેદ 

યંગની ઩ાત઱ી અન ેઅધબ ઩ાયદળબક હ૊મ તેને 
઩૊યસીરીન કહ ેછે. 

C. જે લસ્ત ુભાટીભાથી નીિા તા઩ભાન 
઩ય ફા઱ી અને ધીભે ધીભે નીિે ઠંડુ 
઩ડ ેછે, તેને અથંલેય કહ ેછે, 

D.  ઉ઩યના ફધા 

29. 

આ સાભાન્ડ્મ યીતે તેર યંગ૊ને ઩ાત઱ા ફનલલા ભાટે ઉ઩મ૊ગ થામ છે 
A.  નેપ્થા B. (એ) અને ( સી) 
C. ટ઩ેંટાઇન D.  એક ઩ણ નહી 

30. 

કાસ્ટ આમબનભા  
A.  ગભે તે આકાયભા ફનાલી ળકામ છે. B. કુ઩૊રા બઠ્ઠીભા ંપયીથી ઓગા઱લાભા આલે 

છે. 
C. અન્ડ્મ અશદુ્ધદ્ધઓ સાથે સાથે કાફબન 

2 % થી 5 % હ૊ઈ ળકે છે  
D.  ઉ઩યના ફધા 

31. 

એસ્ફેસ્ટ૊સ એ  
A.  કય૊ગેટેડ ળીટ છા઩રુ ફનાલલા ભાટે     B. અલાજ અને ગયભી ભાટે ખયાફ અલાહક  
C. તે ભહદંળે આગ ય૊ધક સાભગ્રી છે D.  ઉ઩યના ફધા 

32. 

નીિેથી મ૊ગ્મ વનલેદન ચ ૂટં૊ 
A.  રાકડાન ુપયસ વથમેટયભા લ઩યામ 

છે. 
B. ઩ેલય બ્ર૊ક ફુટ્઩ાથભા લ઩યામ છે. 

C. ગ્રેનાઇટન૊ ઉ઩મ૊ગ ક્રકિન 
પ્રેટ્પ૊ભબ ભા થામ છે. 

D.  ઉ઩યના ફધા 

33. 

ક્રડસ્ટ્મ્઩ય એ  
A.  ઩ાઉડય િ૊ક, યંગ કણ , અને 

઩ાણીન૊  સભાલેળ થામ છે 
B. યંગીન વસભેન્ડ્ટ અને ઩ાણી સભાલેળ થામ યંગ 

C. લ૊ટય પ્રકૂ્રપિંગ એજન્ડ્ટ D.  એક સકૂલણી એજન્ડ્ટ . 

34. 

તેર લાવનિળભા સાભાન્ડ્મ યીતે  ળાન૊ સભાલેળ થામ છે. 
A.  કૃવિભ યા઱ અને આત્ભા B. યેચઝન , તેર અને ટે઩ેંટાઇનૌ 
C. તેર, ભીણ અને યેચઝન D.  સ્સ્઩યીટ, તેર અને ભીણ 

35. 

સેનીટયી ઩ાઇ઩ અને યાસામચણક ભાટીના લાસણ૊ ભાટે 
A.  ભીઠુયકુ્તૌ ગ્રેચઝિંગ  B. અ઩ાયદળબક ગ્રેચઝિંગ  
C. રીડ ગ્રેચઝિંગ D.  ઉ઩યના ભાથી એક્઩ણ નહીં લ઩યામ છે. 

36. 
ફૃક્રપિંગ ભક્રટયીમર 

A. નચ઱મા B. ગેલ્લેનાઇજ્ડ ળીટૌ 
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C. એ.સી.ળીટ D. ઉ઩યના ફધા 

37. 

ક્રડસ્ટેભ઩રૌ ભાટે આધાયભતુૌ સાભગ્રી, છે  
A.  િાક B. ચનૂ૊  ઩ટુ્ટી 
C. ચનૂ૊ D.  વસભેન્ડ્ટ લ૊ળ 

38. 

 R.C.C.ભા લ઩યાતા કમા પ્રકયન ુસ્ટીર  લ઩યામ છે. 
A.  સ્ટેઈનરેસ સ્ટીર B. ઉચ્િ કાફબન સ્ટીર 
C. ભાઇલ્ડ સ્ટીર D.  આમનબ ઘડતય . 

39. 

કાસ્ટ આમનબન૊  ઉ઩મ૊ગ  
A.  ફીભ ના ભા઱ખા ભાટે  B. ક૊રભ અને સ્ટ્રક્િય 
C. નાના કદના લ૊ટય ઩ાઇ઩ D.  આ ભાથંી એક઩ણ નક્રહ 

40. 

સ્ટેઈનરેસ સ્ટીરએ કાટન૊ પ્રવતકાય કયે છે. 
A.  ક્ર૊વભમભ B. સલ્પય 
C. લેનેક્રડમભ D.  કાફબન 

41. 

લાવનિળ સોથી ભહત્લન૊ ઘટક છે 
A.  રામય B. યેચઝન 
C. દ્રાલક. D.  ફધા ઉ઩ય 

42. 

ર૊હ ધાત ુએ 
A.  કાસ્ટ આમનબ B. સ્ટીર  
C. ય૊ટ આમનબ D.  એક઩ણ નક્રહ 

43. 

સાભાન્ડ્મ યીતે સ્સ્઩યીટ લાવનિળભા 
A.  તેર, ભીણ અને યેચઝન  B. યંગદ્રવ્મ અને કૃવિભ યેસા 
C. આલ્કાહ૊ર, ભીણ અને ટે઩ેનટાઇનૌ D.  સ્સ્઩યીટ અને રાખના ં઩ાત઱ા ં઩તયા ં

44. 

ભાટીની લસ્ત ુઉ઩ય ગ્રેચઝિંગ કયલાભા ંઆલે છે કાયણકે 
A.  તેભન૊ દેખાલ સધુાયલા ભાટે B. સડ૊ થત૊ ય૊કલા ભાટે 
C. લાતાલયણની અસય સાભે યક્ષણ  D.  ઉ઩યના ફધા 

45. 

તેજસ્લી દેખાલ ભાટે કમા પ્રકાયન૊ લાવનિળ લ઩યામ છે  
A.  ઩ાણી લાવનિળ B. તેર લાવનિળ 
C. સ્સ્઩યીટ લાવનિળ D.  એક઩ણ નક્રહ 

46. 

ભાઇલ્ડૌ સ્ટીર ન૊ ઉ઩મ૊ગ 
A.  ફીભ, સાધંા અને ગડબયભા B. કૉરભ અને stru. ભા ંએ ભા઱ખાકીમ કાભ 
C. નાના કદના લ૊ટય ઩ાઇ઩ D.  એક઩ણ નક્રહ 

47. 

ચિનાઈ ભાટીની લસ્ત ુફનલલા ભાટે  નીિેનાભાથી ળેન૊ ઉ઩મ૊ગ થામ છે. 
A.  ભાટી B. ભીનયરસૌ 
C. પેલ્ડસ્઩ાય . D.  આ ફધા  

48. 

લજનભા હરકુ અને સળુ૊બન કાભ ભાટે , સોથી લધ ુચફનજફૃયી વ઩ગ આમનબ,કય ુછે  
A.  ફેસેભેય વ઩ગ B. સપેદ અથલા વ઩ગ ફનાલટ 
C. ગ્રે અથલા પાઉન્ડ્રી વ઩ગ D.  ચિત્તદાય વ઩ગ. 

49. એકે્રચરકની ળીટ્સ એ
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A.  તેના  સભકક્ષ કાિની  જાડાઈ સાભે 
10 થી 17 ગણી લધ ુતટૂફૂટ 
પ્રવતકાય ળક્તીધયાલે 

B. વલવલધ આકાય૊ભા ઉ઩રબ્ધ છે  

C. સાભાન્ડ્મ યીતે ભ૊ટા બાગના ઘયભા ં
ક઩ડા ંધ૊લાના ઩ાલડયની અસય 
થતી નથી. 

D.  ઉ઩યના ફધા  

50. 

સ્ટુક૊ પ્રાસ્ટય ક્યા કયલાભા ંઆલે છે 
A.  અંદય B. ફહાય 
C. ફનંે (એ) અને ( ફી) D.  એક઩ણ નક્રહ 

51. 

સ્રેટને ક્રપક્ષૌ કયલા ભાટે છા઩યાની નીિે કમા પ્રકાયની ખીરી લ઩યામ છે 
A.  ઝીંક B. ભાફબર 
C. એભ.એસ. D.  ભૅગનેસીઆ 

52. 

ચરન૊રીમભ ફજાયભા લેિાણ઩ાિ સ્લફૃ઩  
A.  ભીટય રફંાઈ B. ય૊ર 
C. ભીટય ઩હ૊઱ાઈ D.  જાડાઈ 

53. 

એક ક્ષ - ક્રકયણ ફૃભ ની ક્રદલારફન ુઅસ્તરૌ શ ુભે઱લીને કયલાભા ંઆલે છે 
A.  ફેક્રયમભ સલ્પેટ ફી B. ઩રબ એળ 
C. એસ્ફેસ્ટ૊સ - આયસ D.  વસરીક૊ન 

54. 

઩ેડ ર૊ક કમા ંલ઩યામ છે 
A.  સાદ૊ દયલાજ૊ B. ફાયીન૊ દયલાજ૊ 
C. કફાટન૊ દયલાજ૊ D.  એક઩ણ નક્રહ 

55. 

ગટય ઩ાઇ઩ ળેભાથી ફનાલલાભા ંઆલે છે 
A.  અથબન લેય B. સ્ટ૊ન લેરૌ 
C. ક્રયપેક્ટ્રી લેય D.  ટેયાક૊ટા લેય 

56. 

઩ારાબભેંટ વભજાગયા ળેભા લ઩યામક છે. 
A.  દયલાજ૊ 90ْ ખણુે  ખ૊રલા ભાટે B. દયલાજ૊ 100ْ ખણુે  ખ૊રલા ભાટે 
C. દયલાજ૊ 180ْ ખણુે  ખ૊રલા ભાટે D.  દયલાજ૊ 360ْ ખણુે  ખ૊રલા ભાટે 

57. 

઩૊સેચરનન૊  ઉ઩મ૊ગ 
A.  સેવનટયી લેય B. ઇરેક્ટ્રીક ઇંસરુેટરૌ 
C. સગં્રહ કયલાના લાસણ D.  લેક્ટય િેમ્ફય 

58. 

બ્રાસ ની વભશ્ર ધાત ુ 
A.  તાબં ુ ંઅને જસત B. ઝીંક અને સીસુ ં
C. ટીન અને વસલ્લય D.  ઝીંક અને વનકર 

59. 

રેકય એ 
A.  ક્રડસટેમ્઩રૌ B. સકુા યંગ 
C. સ્સ્઩યીટૌ લાવનિળ D.  ઓઇર ઩ઇેંટૌ 

60. 

ટેયાક૊ટા ન૊ ઉ઩મ૊ગ ઇભાયતભા ક્યા થામ છે 
A.  સગં્રહ કયલા B. ઇંસ્યરુેળન 
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C. સળુ૊બન કાભ D.  સેવનટયી લેરૌ 

61. 

મયુભ મખુ્મત્લે  
A.  પાઉન્ડ્ડળેનના પ્રાસ્ટયભા B. પાઇનર ક૊ટ  
C. યસ્તાઓ ઉ઩ય ઩ાથયલા D.  ઉ઩યના ક૊ઈ નહીં 

62. 

ડ૊યક્ર૊સય ક્યા લ઩યમ છે 
A.  એ.સી. રુભ B. દયલાજ૊ ખલુ્ર૊ યાખલા ભાટે 
C. અગાસી ન૊ દયલાજ૊ D.  ઉ઩યના ક૊ઈ નહીં 

63. 

એક છત િાય ક્રદળાભા ંઢ્઱તી હ૊મ ત૊ તેન ે

A.  ઢા઱લા઱ી છત B. ગેફર છત 
C. ક્રહ઩ છત D.  છત ળેડ 

64. 

નયભાયદડી એ ળેન ુનાભ છે 
A.  દયલાજાની િ઱લ઱ ભાટે  B. રાકડાના જ૊ડાણ કાભભા 
C. ફાયી D.  છતભા ફ૊લ્ટ કડી આંકડ૊ 

65. 

આંકડીમ૊ એ ળેન ુનાભ છે 
A.  ફાયીન૊ પ્રકાય B. દયલાજા ન૊ ફ૊લ્ટૌ 
C. ર૊ક D.  રાકડાના ક૊તયણીન ે

66. 

યફયના પયસ આલયણ ભાટે લધ ુઅનકુ઱ૂ આલે છે 
A.  એક્સ યે ફૃભ B. યેક્રડમ૊ સ્ટેળન 
C. ફનંે - ( એ, ફી ) D.  ક૊પી ળ૊઩ 

67. 

કૉકબ ફ્ર૊ક્રયિંગ ક્યા ઉ઩મ૊ગ થામ છે 
A.  યસ૊ડુ B. ફાથફૃભ 
C. ળમનખડં D.  ઓટર૊ 

68. 

જે સ્સ્લવભિંગ ઩રૂભા કમા પ્રકાય ના ફ્ર૊ક્રયિંગન૊ ઉ઩મ૊ગ થામ છે 
A.  ટેયાજ૊ B. ભાફબર 
C. વસભેન્ડ્ટ કોંકીટૌ D.  ચરન૊રીમભ 

69. 

એક૊સ્સ્ટક પ્રાસ્ટય ળનાથી કયલાભા ંઆલે છે 
A.  જજપ્સભ B. કાદલ 
C. મયુભ D.  રાકડુ 

70. 

નીિેની  ઩ૈકી ઓઇર ઩ૈંઇંટૌ ભાટે એક લાહન તયીકે ઉ઩મ૊ગ કયી ળકામ
 
A.  ખસખસ તેર B. નટ ઓઇર 
C. ત ુગં તેર D.  ઉ઩યના ક૊ઈ઩ણ 

 

************* 


